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平 成 28 年 度  テ ス ト Ｂ  

番 号  
配
点  

正  答  
上 位 群  

正 答 率   
下 位 群  

上 位 群  
無 答 率   

下 位 群  

誤  
答  
率  

主 な 誤 答 例  
（ 標 本 全 体 に 対 す る ％ ）  

[１ ](1) 4  7  6 9 . 1
8 4 . 8
5 5 . 6

0 . 0
0 . 0
0 . 0

3 0 . 9 － 23(14 . 2 )， 57(5. 1 )  

( 2 )  4  
6

yx 
 4 1 . 7

4 9 . 7
2 4 . 5

0 . 1
0 . 0
0 . 0

5 8 . 2
6

11yx 
( 3 2 . 1 )， － x＋ y  ( 9 . 7 )，

6

11yx 
( 1 . 6 )  

( 3 )  4  x＝ － 3，
2

9
＝y  5 8 . 6

7 8 . 1
4 3 . 0

4 . 4
0 . 0
8 . 6

3 7 . 0

x＝ 3， y＝ － 3(13.4 )，  

3

5
＝x ，

3

4
＝y ( 4 . 5)  

( 4 )  4  x y ( 4 x＋ 3 y ) ( 4 x－ 3 y )  7 6 . 4
9 9 . 3
5 6 . 3

5 . 4
0 . 0
1 1 . 3

1 8 . 2
x y( 1 6 x ２ － 9 y ２ )(6 . 1 )，  

x y( 4 x－ 3 y )２ (1. 1 )  

( 5 )  4  4－34  
62 . 2

7 9 . 5
3 5 . 8

1 . 4
0 . 0
3 . 3

3 6 . 4 2 ( 5 . 9 )， － 4(5.6)， 4(4.3 )  

( 6 )  

4  ア 5( x＋ 1) 2＝ (2 x ) 2－ 11 65 . 5
9 1 . 4
3 0 . 5

4 . 7
0 . 0
7 . 3

2 9 . 8
5 ( x＋ 1) 2＝ 2 x 2－ 11  (1 2 . 6)，  

5( x＋ 1) 2＝ (2 x ) 2＋ 11(4. 5)  

4  イ x＝ － 8， － 2  5 3 . 2
8 6 . 1
1 7 . 2

1 3 . 4
1 . 3
2 7 . 2

3 3 . 4
3

235－ 
( 7 . 3 )， 315－  ( 4 . 2 ) 

( 7 )  4  8  7 8 . 7
9 5 . 4
5 9 . 6

3 . 0
0 . 0
4 . 0

1 8 . 3 4 ( 3 . 0 )， 6(2.2)， 2(1.7)  

( 8 )  4  n＝ 2， 3， 7 32.8
4 7 . 0
1 9 . 9

1 1 . 9
1 . 3
2 1 . 2

5 5 . 3
1， 2， 3， 7(8.6)，  

1， 3， 7(3.7)， 2， 3(3.4)

( 9 )  4  
10

1p
 4 9 . 4

7 9 . 5
9 . 3

1 7 . 5
1 . 3
4 1 . 7

3 3 . 1
10

＋1 p
( 3 . 6 )，

10

－1 p
 ( 2 . 6 )，

10

p

( 1 0 )  4  
2

1
＝，6＝ ka

 
5 7 . 0

8 6 . 8
2 0 . 5

1 6 . 7
1 . 3
3 7 . 7

2 6 . 3
2＝，6＝ ka  ( 5 . 4 )，  

2＝，0＝ ka  ( 2 . 5 )  

( 1 1 )  4  ∠ x＝ 49 度  69.4
8 7 . 4
3 7 . 7

1 . 8
0 . 7
4 . 0

2 8 . 8 5 9 ( 1 5 .0 )， 54(1.4 )， 13(1.3 )

( 1 2 )  4  2 c m２  30. 1
5 7 . 0
3 . 3

3 0 . 2
1 8 . 5
4 7 . 0

3 9 . 7 3 ( 7 . 7 )， 2(6.0)， 22 ( 2 . 6)

[２ ](1) 4  6  8 1 . 9
9 3 . 4
6 4 . 9

1 . 0
0 . 0
1 . 3

1 7 . 1 5 ( 9 . 9 )， 5.5(3.2 )  

( 2 )  4  
18

7
  7 2 . 1

8 8 . 1
6 2 . 3

2 . 4
0 . 0
3 . 3

2 5 . 5
36

13
( 6 . 6 )，

4

1
(2.6 )，

12

5
(2. 4 )  

( 3 )  4  4  6 3 . 4
8 6 . 1
5 5 . 0

8 . 0
3 . 3
9 . 9

2 8 . 6 3 ( 8 . 3 )， 2(5.7)， 0(2.2)  

( 4 )  4  ア ， カ  36.8
62 . 9
7 . 3

8 . 3
2 . 0
2 0 . 5

5 4 . 9
イ ， キ (8.6)， ウ ， カ (7.6) 

ウ ， エ (3.4)， ア ， ク (3.4) 

[３ ](1) 4  6＋
2

1
＝ xy  7 3 . 9

9 6 . 7
4 1 . 1

7 . 9
0 . 0
1 7 . 9

1 8 . 2 12＋2＝ xy ( 1 . 0 )  

( 2 )  4  （ － 10， － 5）  43.6
8 6 . 1
2 . 6

2 4 . 8
1 . 3
5 3 . 6

3 1 . 6 







2

9
，－9－ (2.1)， 








2

5
，－5－

[４ ](1) 4  ２

2

1
＝ xy  4 8 . 8

7 6 . 8
9 . 3

1 9 . 1
0 . 7
4 8 . 3

3 2 . 1 y＝ 2 x ( 1 3 . 0 )， xy
2

1
＝ (2.9)  

( 2 )  4  y＝ 4 x－ 8 22.4
4 6 . 4
0 . 0

3 0 . 8
7 . 3
6 6 . 9

4 6 . 8 y＝ 4 x＋ 8(7.3)， y＝ 4 x( 4 . 7 )  

[５ ](1) 4  π
3

32
cm３  56 . 7

8 4 . 8
1 8 . 5

9 . 2
0 . 7
2 0 . 5

3 4 . 1 π
3

256
( 5 . 1 )， π

3

16
(3. 2 )  

( 2 )  4  332 π cm３ 15.0
2 8 . 5
0 . 0

2 7 . 0
9 . 3
4 9 . 7

5 8 . 0 π
3

264
( 1 1 . 3 )， π

3

256
(5 . 7 )  

[６ ](1) 4  54 c m２ 59. 9
8 9 . 4
2 3 . 8

9 . 9
0 . 0
2 3 . 8

3 0 . 2 9 ( 6 . 5 )， 12(2. 9)， 10(2. 4 )  

( 2 )  4  54 c m２  21 . 7
3 9 . 1
1 . 3

4 1 . 2
1 4 . 6
7 6 . 2

3 7 . 1 54π＋
2

15
(1. 2 )， 54π＋

2

9
－

 


